ANSWERS — VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 2, Bar Subject to Extension problem 2.38, page 65

Remarks: See 82.2.1, pages 19 till 21
See 8§2.3, pages 24 till 26
See §2.6, pages 34 onwards

Answers: Explanation:

a u 0,72 mm ({) b. AW =AM =Ar® = NO =NO® =16xN?
+ Uplock = Vs ,
NOLN@ L NO® —36xN@P =F = N® =15kN

b. N® =N® =124 kN: N® =15 kN
N® =N® =24 kN

c. o =c® =96 N/mm?; @ =60 N/mm?
(24 kN)(1500 mm)

=0,72 mm
(200 kKN/mm?)(250 mm?)

a. Upjock (‘L) = Ag(l) =

3
C. J(l) _ J(3) _ 24x10 l;l
250 mm
3
0_(2) _ 15x10 |:l
250 mm

=96 N/mm?

=60 N/mm?
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